coeff = 25 7 [ nghtencoder - leftencoder ) ;

Corection = Abs { coeff ) ;
?tcoeﬁ:O}HLenﬁdeLwer

SetMotor ( 1, 110 + Correction ) ;
SetMotor | 2, 110 - Correction § ;

else if ( coeff < 0 )/ Foght Side Lower

SetMotor ( 1, 110 - Correction ) ©
Sethotor ( 2, 110 + Correction ) |

else
SetMotor (1,127 ) ;
SetMotor (2, 127 )
H
else if (down ==1)
if ( coaff > 0) I laft sida lower

SetMotor (1, <110 - Correction ) ;
SetMotor (2, 110+ Correction ) -

}
etse if ( coaff < 0 ) right side too fast

SetMotor ( 1, -110 + Corraction ) ;
Setotor ( 2, -110 - Comrection ) ;

cise
SetMotor (1,-127) :
Sethotor (2, -127 ) ;
i
dse
SetMotor (1,0);
SetMotor (2,0);

i

PrintTaScreen | "Cosefledin” , coeff ) |
PrintToScreen ( “comectldin® , Comection ) ;
PrintTeScreen ( “leflencodertdin”, leftencoder ) ;
PrintToScreen ( “rightencoder¥td'n”™ , rightencoder | ;
Wait (10);




